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l. Whose hometown does the man like better?
A. Tom’s. B. The woman'’s.
2. What time is it?
A 1:15. B. Earlier than 1:15.
3. What does the man mean?
A. He bought the dictionary with the money he had.
C. He didn’t like to buy the dictionary with his money.
4. What can we learn from this conversation?
A. The man enjoyed the match very much.

B. The man was too tired to watch the game.

C. The game was over before the man got home.

i

. Who are the schoolmates?
A. The man and Jimmy.
C. The woman and Jean.

CEITH(H L/NEBME LS S8 22.5 4)

C. Jack’'s.

C. Later than 1:15.

B. He didn’t get enough money.

B. The man and Jean.
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6. How doés the woman go to the place?
A. By bike. B. By bus.
7. What can we learn about the woman?

A. She has walked more than two blocks.

C. She is on the wrong strect.

C. By taxi.

B. She is in Nanjing Road now.
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8. Where does the woman want to go?
A. To the cinema. B. To the zoo.
9. Which turning should the woman take?
A. The first turning on her left.
C. The second turning on her left.
10. How far is the cinema?
A. Not more than 100 yards.
C. More than 100 yards.
W ENEMRL, EESE L E 138,
11. What is the possible relationship between the two speakers?
A. Friends. B. Teacher and student.
1Z. What did the man use to be?
AL A worker. B. A teacher.
13. How much was he paid for a month?
A $70. B. §140.
CWFSARMRL, RS 14 E 15 E,
14. What is the man’s plan for the winter vacation?
A. Go deer hunting. B. Go travelling.
I5. Why does the man decide to do this?
A. To see his friends. B. To collect money.
16. Whom will the man go with?
A. The woman. B. His family.
WrsE+Rme EEEI17TE 208,
17. How old was the boy?
A. 3 years old. B. 5 vears old.
18. Why did the boy’s mother take him to see doctors?
A. Because he was deaf.
C. Because he was blind.
19. What made the boy speak?
A. The good cggs.
C. The bad eggs.
20. How did the mother feel when she heard her son speak?

A. Very worried. B. Very happy.

. To the hospital.

. The first turning on her right.

. 100 yards.

. Employer and employee.

. A salesman.

. $280.

. Go to visit big citics.

. To amuse himself.

. His friends.

. 3 months old.

. Because he was dumb.

. The strange eggs.

. Very surprised.
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1. What’s the weather like?

A. It's warm. B. It’s cold. C. It’s windy.
2. How is the man today?

A. He is very sick. B. He must lie in bed. C. He is better.
3. What did the man plan to do?

A. He planned to tell Tom something.

B. He planned to help Tom with his study.

C. He planned to ask Tom to help him.
4. What do we learn from this conversation? h

A. Johnson Danils isn’t at home right now.

B. The caller dailed the wrong number.

C. Johnson Danils can’t come to the phone right now.
5. Who is the woman?

A. A clerk in the bank. B. A clerk in the post office.

C. A waitress in the restaurant.
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6. How many people will live in the room the man reserved?
A. Only one. B. Two. . C. Three.
7.How long will the man stay?

A. One day. B. A week . C. Four weeks. P
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How much will the man pay for his stay?
A. $60. B. $420. ' C. More than $ 420.
IFEEBRHER.DESEIE1LHE,
What's Bob’s mother doing?
A. She is buying a present for her son.
B. She is looking at some birthday cakes.
C. She is buying herself a bicycle.

. How soon is Bob’s birthday?

A. In a week. B. Two wecks away. C. In less than ten days.
What size bicycle will she buy?

A. Size 24. B. Size 26. C. Size Z8.
SRR AR EEE 12 E 14,
. What will the weather be like the day after tomorrow?

A. Rainy. B. Windy. C. Sunny.
. What are they going to do the day after tomorrow?

A. Have a party. B. Go to have a picnic. C. Climb the hill.
. What will they do if it rains?

A. Put off the plan. B. Drop the plan. C. Go on the plan.
SFEARME L BEE D E 1T,

5. With what subject is suggested to start a conversation with English pcople?

A. His family. B. The pubs. C. The weather.
. Why does Mark say that English people never speak to him?

A. Mark never speaks first.

B. English people hate to be talked to.

C. Mark’s English is too poor.

7. What can you infer from the advice of the woman?

A. English people like to talk about nothing but the weather.
B. Learning a foreign language requires a lot of practice.
C. A foreign language learner should try to find more chances to meet native speakers.

IS EARE, EES 18 E 20 8,

. When was Carver born?

A. In 1846. B.In 1864. C. In 1964.
.From which college did Carver graduate?

A. lowa College. B. Towa University. C. Missouri College.
How many uses did Carver discover for sweet potatoes?

AL 300, B. 200. C. 100.




R i | - 1B ﬂw‘:ﬂfﬂ;}f’ .
A £ 1 2 3 4 5 6 7T & 90 10 11 12 lj |4 .||:J:16i|?.518;]9|20.; o ‘
: i . | R e e s e e e e RN |

i
M

LT IE 5 i

Test 3 t

CE—F(HSNEBANE LS G, ES 7.5 )
Wi Bl 5 BEah i, F BERS UGG AT A/ OB P R £ A LVBLC A iR b B Y g L e I O A A I
5 10 R 407 Y5 O % ek BER T I o P AT 1O B0l vty B i) ok 1] A O/ A B F — N, R R R A R

i

I. What did the man do after he lost something?
A. He stayed at home. B. He went to look for it.
C. He asked the police for help.
2. What time is it now?
A. 7 o’clock. B. 8 o'clock. C. 9 o’clock.
3. What does the man mean?
A. He never watches TV, B. He watched TV in the past.
C. He watched TV when he has enough time.
4. What does the woman suggest?
A. Exercise just after getting up.
B. Don’t do exercise so many times a day.
C. Read in the morning.
5. Who is the woman?
A. A tailor. B. A manager. C. "A saleswoman.
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6. How many times has Brad met Wendy?

A. Twice. B. For the first time. C. Several times.
7. Which of the followings might be true?

A. The plane didn’t arrive at the airport on time. B. Brad works at the airport.

C. Wendy works at the airport. /
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8. How did Brad come to the airport?
A. By bus. B. By truck. C. By car.
SRR EEEIEE,
9. Why will the woman go to the airport tomorrow morning?
A. She is going abroad. B. She is going to see her daughter off.
C. She is going to sec her friend off.
10. Who will study at Harvard University?
A. The man’s daughter. B. The woman's daughter. C. The man’s wife.
11. When will the speakers get to the airport at the latest tomorrow?
AL At 8:00 a. m. B. At 8:30 a. m. C. At 9:00 a. m.
ENEMR,EES 12 E 118,
12. What does Peter ask Mary to do?
A. He asks her to play football with him.
B. He invites her to have a cup of coffee with him.
C. He wants her to go to see him play.
13. Why does Mary refuse Peter’s invitation?
A. Because she will have an exam the day after tomorrow.
B. Because she has to take a course.
C. Because she has to study for an exam.
14. What kind of weather will it be on Friday?
A. It will be sunny. B. It will be rainy. C. It is not known.
EALEME BEEI5E17TH,
15. Where does the conversation most probably take place?
A. At the library. B. In the lab. C. In the kitchen.
16. Why hasn’t the woman finished doing the experiment?
A. She doesn’t like it. B. She didn’t watch carefully.
C. She didn’t hear what the teacher said.
17. When will the woman hand in her report?
A. Friday. B. Saturday. C. Monday.
RN, EESE 18 E 20 M,
18. How old is Mrs. Brown now?
A. Forty. B. Thirty-nine. C. Forty-one.
19. How much did Mr. Brown borrow from his friends?
A. 120. B. 580. C. 160.
20. Why doesn’t Mrs. Brown think it’s a real diamond necklace?
A. Because it isn’t like a real diamond necklace.
B. Because it’s too cheap.
C. Because she doesn’t trust her husband.
I e A TR Y T
P
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1. What is the man probably going to do?

A. He is going to leave. B. He is going to sit down.
C. He is going to bring a chair.
2. Whose cyes does the woman’s eyes look like?
A. The woman’s father’s. B. The woman's mother’s.
C. The man’s father’s.
3. What does the woman want to do?
A. To go to the office right away. B. To have lunch first.
C. To have a rest.
4. What can we learn from the conversation?
A. The man came to the meeting place by taxi.
B. The man came to the meeting place by bus.
C. Susan came to the meeting place by bus.
. Who didn’t know the news?
A. The woman. B. Bob. C. Kate.
VDT 15 NELGENE 15 5, #5225 43)
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6. What has the woman got?

w

AL A sign. B. A movie ticket.
C. A traffic ticket.
7. Why did she get the ticket?
A. She is always careless. B. She didn’t see the sign.
C. She was not familiar with the road.

B P A A T PSS S ALY
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8. What do you think of the woman?
A. She was careful. B. She will be more careful.
C. Both of the above.
SRR, EES I E 1M,
9. Where are Kate and Tom?
A. On a train. B. On an airplane. C. On a ship.
10. Where is the plane?
A. It’s about to leave the airport. B. It has just taken off from the airport.
C. It will soon land at the airport.

. What will Lily do?

A. She will meet Tom and Kate. B. She will see Tom and Kate off.
C. She will arrive by another plane.
SFENEME,EES 12E 118,

12. What docs the man want to buy?
A. Stamps. B. Envelopes. C. Stamps and envelopes.

13. How much does the man spend?
A. Five dollars. B. Five dollars and fifty cents.
C. Five dollars and fifteen cents.

14. Where does the dialogue take place?
AL In a post office. B. In a bookstore. C. In a supermarket.
IFEABRME BEE 15 E 17T,

. Why is the woman speaker’s mother in low spirit?

w1

A, Because she feels lonely.

B. Because she misses her son studying abroad.

C. Because she has had a quarrel with a neighbour.
16. When did the woman speaker’s father pass away( 2 i#f) 7

A. Three weeks ago. B. A few months ago. C. Two years ago.
1

-3

. What is the man specaker going to do?

A. He is going to buy a new house in the woman speaker’s city.

B. He is going to marry the woman speaker.

C. He is going to open an office in the woman speaker’s city.

«UF S+ ERHEL EEH 18 E 20 M,

158. According to the text. how long do pubs usually stay open?
AL 12 hours. B. 13 hours. C. 11 hours.

19. What's the strongest reason that Englishmen often go to pubs? .
A. To meet their friends. B. To watch football match.
C. To relax themselves.

20. What's a woman not supposed to do if she wants to visit an English pub?

A. Go there alone. B. Go there with a man.

C. Go there with her family.
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1. What's the relationship between the two speakers?

AL Strangers, B. Friends. C. Classmates.
2. When will the man visit the woman?

A. Soon. B. Next year.

C. When he finishes writing.
3. Where did Mary grow up?

A, In England. B. In Ireland. C. In France.
4. What does the man prefer?

AL Milk. B. Beer. C. Tea.
3. When will the woman sleep?

AL After she takes a walk.

B. After the man comes back from the walk.

-

C. After she closes the windows.
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fi. Who is calling?

A. Jim. B. Janc. C. A woman.
7. What's Jim’s telephone number?

A. 367-3369 B. 637-6639 C. We don’t know.
cELEAR.EELESE 10E,
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8. Where are the two speakers?
A. In a car. B. In the open air. C. At home.
9. When does the conversation take place?
A. At night. B. At noon. C. In the morning.
10. Why do the two speakers decide to go home?
A. Tt is too late. B. It is too noisy. C. They feel a bit hungry.
FENEME EES I E 138,
11. What is the relationship between the two speakers?
A. They are shop assistant and customer. B. They are passenger and conductor.
C. They are waiter and customer.
12. Which kind of gloves does the woman prefer?
A. Wool. B. Leather. C. Fur.
13. What's the result of the dialogue?
A. The woman bought a pair of gloves after trying them on.
B. The woman didn’t buy any pair because they were too small.
C. The woman didn’t buy any pair because they were too large.
WEABME, EEE 4 E 178,
14. Who is Wat Johnson?
A. A patient of Dr Green's. B. A friend of the woman'’s.
C. A visitor to the hospital.
15. Why won’t Mr Green come there tomorrow?
A. The clinic will be closed. B. He can’t spare the time.
C. Dr Green won’t come to work.
16. When is the clinic open in a week?
A. During the whole week. B. From Monday to Friday.
C. On weekdays except Thursday.
17. What time has finally been fixed for Mr Green to come?
A. 6:15 p.m. , Wednesday.B. 5:30 p. m. , Wednesday. C. 6:15 p. m. , Thursday.
WrsE+Bate, EIEH 18 E 20 .
18. How many drivers and front seat passengers are killed or seriously injured each year?
A. Not many than 30,000. B. More than 30,000. C. No more than 30,000.
19. What does the passage tell us can reduce the chance of death or serious injury?
A. Not driving a car. B. Not sitting in the front seats.
C. Wearing a scat belt.

20. How much will a boy under 14 be fined if he sits in the front wearing a seat belt?

A. No money. B. 50 pounds. C. 15 pounds.
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1. What's the probable relationship between the two speakers?

A. Wife and husband. B. A doctor and a patient.
C. A waiter and a customer.
2. What does the man mean?
A. He will choose a different color.
B. He doesn’t care which color is chosen.
C. He wants the woman to choose the color.
3. What will the woman probably do?
A. To go to the museum. B. To invite the man to go with her.
C. To do something else.
L. Why does the man cannot go to see the woman?
A. Because he is having a meeting now. B. Becausc he is meeting Mr. Brown now.
C. Because he is meeting Mr. Brown then.
5. Where is Mr. Jones now?
A. In Boston. B. In Asia. C. Unknown.
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6. Who wants to cook?

A. The man. B. The woman. C. Neither of them.
7. What kind of food will they eat?

A. India. B. Chinese. C. Pizza.
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1



‘*‘ =
BR =iz
Eiite English

4. What time will they go to the restaurant?
A. Around six o’clock. B. Around seven o'clock.
C. Around eight o’clock.
~WEERAE EEEEHE,
9. How did the woman learn the news?
A. From the newspaper. B. On the radio.
C. OnTV.
10. How many pcople died in the carthquake?
AL 20, B. 24. C. 16.
11. What arL; the two speakers most probably?
A. Students. B. Teachers. C. Actors.
sENEME, EEE 12 E 48,
12. What program does the man want to watch?
AL A football match. B. The film. C. A volleyball match.
13. When does the volleybail match begin?
AL At 8:30. B. At 9:00. C. At 10:00.
14. What does the woman suggest?
A. The man should watch the movie another day.
B. The man should watch the volleyball match with her.
C. The man should watch the movic on the Internet.
s EAEMR, EEH 5 E LTHE,
15. What is the relationship between the two speakers?
A. Neighbours. B. Doctor and paticent. C. Friends.
16. When does the woman cough most seriously?
A. In the morning. B. In the afterncon. C. At night.
17. W-hiil did the man do for the woman?
A. He examined the woman carefully.
B. He gave her some medicine and some advice as well.
C. He just told her not to worry too much.
- WPEHEMEL EES 18 E 20 M,
18. What did the doctor do with her at first?
A. The doctor asked her some questions. B. The doctor gave her some medicine.
C. The doctor asked her to have a rest. I
19. How old did Mary say she was?
A. Sixty-four. B. Twenty-two. C. Forty-four.
20. How old should Mary be actually?

A. Fifty. B. Fifty-two. C. Forty-four.
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I. How will Mary go to the airport?

A. On foot. B. By bus. C. By taxi.
2. How many books are there?

AL 9. B. 10. C. 1.
. What did the woman think-of the shoes?

(¥

A. She liked them much and she would buy them.
B. She thought they were expensive.

C. She couldn’t decide whether to buy or not.

.

. What's the date today?
A. Mar. 8 B. Mar. 6 C. Mar. 7
5. What is the relationship between the speakers?

Teacher and étudcnl.

=

A. Boss and secretary.

C. Customer and saleswoman.
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6. What does the man think of the ring?

A. He thinks it is beautiful. B. He thinks it is made of pure gold.

C. He doesn’t think the ring is a good one.
7. Where did the woman buy the ring?

A. In a store. B. From a local street trader.

C. In Europe.
8. What can we learn about the man from the conversation?

A. He hardly buys something from a street trader.

B. He is the girl's boyfriend.

C. He is good at making rings.




